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Shall we say that Rav Yosef is dependent on Tana’im

OVERVIEW

A0 27 maintains that a 77°28 MW is a DW MW (and the same would apply to a
Mown ¥ mon). The X ) initially assumed that the ruling of 701 27 depends on the
2°XiN; meaning that his rule can be valid only according to ¥"9 (who maintains that
the MY loses the Nown), but not according to X"9 (who maintains that the M is a
n"w). The issue here is whether 7727 1s also *Xin> (like >"wA) or not (N1BVIN).
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>''w9 explained that ;729 is certainly dependent on 2°X1n, since "3 (who maintains

that the m>» loses the loan) cannot agree with 727 (who maintains that a 77°a8 9 [and a M%7
Nownn YY) are n"w [like ")) —

moon disagrees:2
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However, previously in the second P99 I have explained that ;729 is certainly

not dependent on 2°8in -
- 211297 175 5PR RNAYY 19199 HRINYTL 17NN Y9119

And 720 establishes the dispute between ¥"11 X" in »Nww (v"1 agrees with

XMW, and X" disagrees), however everyone agrees with 7727 -
11PN INTT ATIN 79 *INMIYTA 1999 523 95 9O 29Y YaN

However according to '3, even if ¥"11 X"1 argue in YXmw, nevertheless R''2
disagrees with nor 1.

SUMMARY
*"w7 maintains that 727 is certainly °X1n3, while according to n19o1n, all agree with
13A7.

" x»*% 7"7. According to >"w there is no alternative but to say that ¥"1 X" argue in 701 2 (since the 713771 is not like
SR1w). See footnote # 2.

% The crux of the npY>nn between *"w1 and MdOIN is whether the 1997 is like 2Xmw (MdOIN), or not ("w1). This in
turn may depend whether 2X1w is by w1 K7 (the view of *"wn, where the view of PX1w is a novelty) or w15 (‘0In,
where the view of YRmW is more logical). See previous X? 71"7 Mo0IN (where the 1" and the n"1 have the same npYon).
? 9" may agree with 7127 that a 77°2K W is like a n"w; however by a 112wna ¥ M1 he agrees with YXmw that the
171 loses the entire loan (especially if we assume that the rule of X is w*1572 [see previous X7 7"7 'o1n]).

* Granted that X" disagrees with 9XWw, nevertheless the 7791 should not collect (1OwWn T312), if X" agrees with 27
Ao that a 77728 W (and owHR Yy MPnn) is a w'w.
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THINKING IT OVER
What are the relative advantages of '01m "9 in our X107

3 What is more readily apparent in our X7»3 is *X1n3 7727 (like *"w1) or not ('01N).
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